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How many Parts of an Essay
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a paragraph discusses one and only one main idea from beginning to end

¢ Jw Coherence

the sentences must hold together; that is, the movement from one sentence to the next
must be logical and smooth, without sudden jumps

Japanese people live longer than most other nationalities ....... they eat
healthful diets.
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Cigarette smoking is a factor in longevity ............. Japanese and other
long

-lived Asians have a very high rate of tobacco use.

Doctors say that stress is another longevity factor
........... try to avoid stress if you wish to live a longer life.
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The purpose of Transition paragraph is to
("restate the thesis statement
(<)conclude the essay
(z)start the essay
(39)to conclude one section and introduce another

In organizing a compare-and-content essay,
() the block method
(<) the point-by-point method
(z)process analysis
(2)A and B only

an essay that explain the stages of a process
() definition
(«)process analysis
(z)compare-and-contrast
stage analysis(?)
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semicolons can be used to
join independent clauses

Well developed paragraphs

state the main point (i)
reinforce the main idea (<)
(z)lead the reader to the next point
(2) All of the above.

: Finally and in conclusion are transitions of

(") summary or conclusion
(<) cause and effect
(z)sequence and addition
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(9)none of the above

A (n) IS a general way of rephrasing

(annotation

(«)abstract

(z)summary
(2)None of the above

Colons can

() supplement a comma
(<) introduce a list
(z) take the place of a semicolon
(2) All of the above

we use the transition signal >furthermore to
introduce

1 an clarificaion

2 an option

3 an extra idea

4 a summary
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we use .............. to sum up

1 an clarification
2 list in order
3 an instance
4 a summary

we use ........... consequently

1 a result

2 a different idea
3 a summary

4 an option

we usSe............. otherwise

1 an extra idea
2 an opposite idea
3 achoice or alternative

o Jlam cnisuch as & Ui
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1 a choice
2 an example
3 a conclusion
4 a consequence

un = not

indebted = thankful
early = earliest .

azkadll o

Wool rugs woven by women of the Navajo .
tribe in Arizona and New Mexico are highly

valued works of art in the United States.

lany orphan is a person
who
whos
whom

which
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e The conclusion
— explain main topics

777- repeat the author point of view

£l gdg Cpa JS o

explain and provide theises statment

o people live longer than most other nationalities, for the eat healthful
diets.

smoking is a factor in longevity, yet Japanese and other long-lived
Asians have a very high rate of tobacco use.

Doctors say that stress is another longevity factor, so try to avoid
stress if you wish to live a longer life

e 222semicolons :

e 222the lawyer argued that the weather was bad , that the car had poor brakes , and

that the other driver was speeding .
ol Jl g e gl S

itis sunny yet cold .

bl g 5 Al

e jones, smith, and jackson presented an interesting report .

aalizeo alolall Slol Luu dlos JI s sasio oo Hlis] ads,b e Jlgudl Ol



سخىغ
Highlight


e iam a little hungry . for i didn't eat breakfast this morning .

Uozll 58 bl,l ggi Lzl

e the newlyweds could not decide whether to live with her parents or to rent an
apartment .

Uozll 58 bl,l ggi Lzl

[ )
e the lawyer argued that the weather was bad , that the car had poor brakes , and that
the other driver was speeding .
AMAMAL Gl & 5 e Jlpdl @

e the newlyweds could not decide whether to live with her parents or to rent an
apartment .

bl g5 Lus|

e jtis sunny yet cold .

byl g9yl

® in conclusion we use signal words : in short
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e we went to disnyland ; we had a great time .
he ate six hotdogs ; he also got a stomach ache .

oty bud | uido=dl & alolall gg5

e | have this advice for you : If you are going to tour three theme parks in one
day,wear comfy shoes!
the hotdogs were missing a key ingredient : chili

ity bud| uidozdl (o8 alolall g

e most colleges now have a writing requirement for graduation ; for example \ for
instance , students at my college must pass a writing test before they register for
their final semester .

Lils> sl ppad 0a>g Sl S5l ) Lam VIl (s9<< 2uo 13S ol 1AS

e student must take final exams; otherwise , they will receive a grade of incomplete .
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e comparison \ contrast Essay organization style :

point by point
and
block organization
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